MRS (BE2EHR) MIRERGZEE (R4)



2

O N
JVEDN

EGA BRI (BB BKIREEH R (R4)

THE - FER A pST LXVAN S fid
RAEY
EARIER Rk 5N
I RERE R 85
R—=V m 885
FniERE m 769
EA AR AR
AR A ER R 2N 1
)2 A 2
R
ML BLE S 74" 2. 0L £l 26
Feb .9 )| 2
T
A2 1 5 5 R BB A 26
e 2
A FLPA 2E & AT 85
FEAT 75
EARIER Rk 5N
& I Y e 1
fEpT (s E R &2 3 ) m 769




¥ =, = SA:
Py J==A 5 I £
W
4 7 . 7 B =K &
(R
[REEH]
H1, H2 H1, H2 13 13
ShERLRIRT (B-16) 250ke (B-16) 50ke (B-16) 250ke (B-16) 50kg
AR E 31 + 31 + 12 + 11 = 85 85 | A
H1, H2 H1, H2
(B-16) 250ke (B-16) 50ke
A=V 7 1221 X 31 +  10.0 X 31 = 685.1
H3 H3
(B-16) 250ke (B-16) 50ke
8.7 X 12 + 8.7 X 11 = 200.1 885 | m
H1, H2 H1, H2
(B-16) 250ke (B-16) 50ke
SHELRA 10.8 X 31 + 8.6 X 31 = 601.4
H3 H3
(B-16) 250ke (B-16) 50ke
7.3 X 12 + 7.3 X 11 = 167.9 769 | m
TE
JELAE HLE R 885.0 —+ 10 X 0.29 = 25.67 26 | H
BEAA ¥ 2| H
et
RIRTHE
Zihig & (B) 885.0 —+ 10 X 0.29 = 25.67 26 | H
G TEZ))
SRIE R RIEE
AR LRE
H1, H2 H1, H2
(B-16) 250kg (B-16) 50kg
T 10.8 X 31 + 8.6 X 31 = 601.4
H3 H3
(B-16) 250kg (B-16) 50kg
7.3 X 12.0  + 7.3 X 11.0 = 167.9 769 | m




B-16 (FitH1, H2ff) @mEXUFEA (250ke/BIHENEIEA) b I N ORA T X

HAT @ m

.62 m/ K BIE

i
hald

GL  (EL)

As#E (EL) .42 Ze i & 0.00 0.00

77 P I 12. 10 12. 10
23 BEE 10. 75 10. 80

AR SL (EL)
AT (EL)

98
20

YR REE (EL)
As|E

AR 65

GL~3# = 85

|
L] IS

[an—y

GL~ S VR . 60 = Gl (BL=2.62)

Asifid: Hf : FL=2. 42
2000 e i ... ..

1. 00
0.00f

-1. 00
# . EL=-2.
5 o0l 4+ : EL=—2. 23

-3. 00—
~4. 00—
=5. 00—

6. 00—

8. 00—

A +0. bm

-10. 00—

A £=10. 80

-11. 00— =11 F=12. 10

-12. 00—

MV E1L=-8.98

-13. 00—

~-14. 00—

=15. 00—
EL=-15. 50

-16. 00—

H1 H2

=-17. 00—




B-16 (FitH1, H2ff) @mEXIFEA (S0ke/BIHENEIEA) B M L OEA A X

GL  (EL) 2.62
AsHEifi (EL) 2.42
AL E (BL) 1.77
#E+ Fifi (EL) -2.23
YR PERE (BL) —6. 83
As]E 0. 20
A e 0. 65
GL~3 )= 4. 85
GL~ MRS TRE 9.45

-10.

-11.

-12.

-13.

-14.

-15.

-16.

-17.

.00

.00

.00

.00

.00

.00

.00

.00

.00

.00

.00

00

00

00

00

00

00

00

00

HAZ i m

m/ A

B

i
lad

22y

0.00

0.00

A=V TR

9.95

10. 00

AR

8. 60

8. 60

GL (EL=2.62)

H1

HiE Tk

R

L BL=2. 42
i Fl=1. 77

A EL=-2.23

H2

3
pelicd
Vs
<]

M EL=

A R=8. 60

+0. bm

K -)v)" £=10. 00
srE PR AR

—6.83

EL=-15. 50



B-16 (HUH3TH) @WEXIIRA (250kefBHEFNELIRAY) BB H R L OPRA Y

2

GL  (EL) 2.62
AsFEifi (EL) 2.42
Az E (EL) 1. 77
#E+ Fifi (EL) -2.23
YR PERE (BL) -8. 98
As]E 0. 20
AR R 0. 65
GL~3 )= 4. 85
L~ vRE|  11.60

TR ET R PR

GL (EL) 2.62
As# i (EL) 2.42
AR R (BL) 1.77
#+ R (EL) -2.23
KEEE (BL) —5. 50
As/E 0. 20
AR 0. 65
GL~# = 4. 85
GL~ B R 8.12

-10.

-11.

-12.

-13.

-14.

-15.

-16.

-17.

.00

.00

.00

.00

.00

.00

.00

.00

.00

.00

.00

00

00

00

00

00

00

00

00

MR BAURE +0. bnE CEAREFERE L T 5

Mz el B A UAR Y]

PR =7, 30
&= &e=8.

2 _ di{ﬁ .
m/ A% EIE it E
Ze g R 0.00 0.00
R—V TR 12. 10 12. 10
AR 10. 75 10. 80
AREELEE _ WA m
m/ A% EIE it E
Ze g R 0.00 0.00
r—V T E 8. 62 8. 70
BEE 7.27 7.30
GL (EL=2.62)
Asili HoMfi : EL=2. 42
_______ e
M+ EL=-2.23
EL=-5.50
I """""""" +0. 5m
K= F=12. 10

70



B-16 (HiH3TH) @MEXIIRA (S0kefRIENIEIRA) B H H 2 M ORA SR

2

GL  (EL) 2.62
AsFEifi (EL) 2.42
B LR (EL) 1. 77
#E+ Fifi (EL) -2.23
YR PERE (BL) —6. 83
As]E 0. 20
AR R 0. 65
GL~3 )= 4. 85
GL~ MRS TRE 9.45

TR ET R PR

GL (EL) 2.62
As# i (EL) 2.42
AR R (BL) 1.77
#+ R (EL) -2.23
HERE (EL) —5. 50
As]E 0. 20
AR 0. 65
GL~# = 4. 85
GL~ B R 8.12

Mz el B ATUAR Y]

5 _ WA m
m/ A IEIE it E
Ze g R 0. 00
A=V TR 10. 00
AR 8. 60
K2t % _HE{ m
m/ A IEIE it E
Ze g R 0.00 0.00
A=V E 8. 62 8.70
BEE 7.27 7.30
s GL (FL=2.62)
Asifi Hofi : EL=2. 42
o ool we _____ =sean
1. 00—
0. 00—
-1. 00}
e | | e
-3. 00}
-4, 00}
=5. 00}
EL=-5.50
-6. 00—
B 2%170) =ity Wi .
-8. 00}
9. 001 HRVE L =—6.8: PRt =8 60
9. 00 7% E1=—6.83 X o)y9 10,00
-10. 00— . - -
KHMWAZ L BATIEE +0. bmE CEARERE LT3
-11. 00—
PRAER=T. 30
~12. 00 K =) £=8.70
~13. 00}~
~14. 00}~
~15. 00}
~16. 00|
~17. 00}~



AR - TR S EECET 2 )

TR R R B GT

YRS D SR VR HE D HETE (250k gl k) HEEHRIRVREE H= 11.60m H24 B-16 EL 2.62
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IEI=N 7’=7-+-CCS 6 ERENESZ3AS TR ER| FERE | BEAGEEE | 45 IR VREE | BAFHRE
HEE pp=p/g F F’ K V1 V2 7" 7
AR R ) qu=(N=8)X 10000 (N>=4DIEH) kg/cm2—kg/m2 (m/sec) | (m/sec) (m) (m)
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